


Kpyrneie npo6oHUKN Circular punches

@ @ BHeLLHero
< >| ApT. P.G. MM 40 npo6os/die
mm.
Waii6a oT 54/13 12,7 (1727 0,08
TpeHus 54/14 14 0,08 23
54/15 54G9 15 540008 0,09
Washer for *54/16 16 (5/8") M8 0,08
the friction 54/17 17 0,13
54/18 54G11 18 0,11 27
54/19 19 (3/4") 0,11
" OTpeska *54/20 54G13 20 0,13
o 54/21 21 0,14 32
> Cut 54/22 54G16 22 (7/8") 0,15
c grinding 54/23 23 540010 0,23
= 54/24 24 M10 0,20
= *54/25 25 (1) 0,21 37
) 54/26 26 0,23
% 54/27 27 0,20
U 54/28 54G21 28 (1.3/32") 0,32
=z 54/29 29 0,32
) 54/30 30 0,32 1
ol 54/31 31 0,33
*54/32 32 (1.1/4") 0,34
54/33 33 540012 0,34
54/34 34 (1.11/32") | M12 0,40
54/35 35 0,46
54/36 36 0,47
Pe)KyLLlaﬂ CNOCOBHOCTL: 54/37 54 G 29 37 0,46 48
NncTosas ctanb 2 mm (1.2 HepxasetoLast 54/38 38 (1.1/2") 0,46
cTans ). 54/39 39 0,46
Mo 3apocy npegocTaBnsieTcs 6onbLueit *54/40 40 0,67 56
TONLLUMHbI. 54/41 41 0,67
54/42 42 0,73
CUT CAPACITY: d
2 mm. in steel sheet. ::;:Z ﬁ 8;? 58
(1 .21in Stainless). 54/45 45 0:84
Greater thicknesses on request. 54/46 46 540014 083
54/47 54G36 47 M14 0,85
54/48 48 0,86 63
54/49 49 0,90
*54/50 50 1,03
54/51 51 (2") 1,00 68
54/52 52 1,05
54/55 55 1,68 74
54/60 gi g Z,% 60 (2.3/8") 1,71 .-
*54/63 63 1,80
54/65 65 2,08
54/70 70 2,12 87
§ 54/72 72 2,19
< 54/75 75 540020 2,20 97
T * HopmatuviBHas “xectkas Tpybka”. 54/80 80 M20 2,71
AN * Normative “rigid tube”. 54/85 85 371 112
@) 54/90 90 3,30
L0 54/95 95 3,44 122
@) 54/100 100 3,77
o 54/105 105 4,20 127
— 54/110 110 4,50 132
= 54/115 115 4,72 136
N
T
J
Do
o 3anacHble BUHTbI Spare screws
ConpoTtueneHue/
- Apr. — sz-zsistance @
540008 | M8 x 1,25 54000
540010 | M10x 1,25 54001
BWHTbI NoCTaBASOTCA Supplyed in 6 unit boxes, 540012 | M12x1,50 1Bl i 24002
B KOpObKax no 6 without washer. 540014 | M14x 1,50 >4003
3K3eMNAPOB 6e3 Luaii6. 540020 | M20 x 1,50 54004

72 FORZA




¢

do0pbl MEXaHNYECKNI NMPOOONHUKOB anual punches sets

Hab6op 13 4 npo6oiiHNKOB 4 punches sets

ApT. | Bknwouaet/Contains {0

54)41 @ 18-20-22-37 1,0
54)42 @ 16-20-25-35 1,0
54)43 @ 18-22-25-32 0,9
54)44 @ 16-20-25-32 0,9
54)45 @ 14-18-20-32 09
54)46 @ 15-20-22-28 0,9 r—‘g
)
Apt. | Bnwouvaet/Contains  { { %
54)48 | @5/8"-3/4"-1"-1/4" 0,9 =
54)49 | ©1/2"-3/4"-1"-1/4" 0,9 Vs)
L
I
)
Z
Mnactmaccoaskopobka Capacity plasticbox [l
2 1 2 3 4
Coe el sy wmm wy
HABOR MPOBOMHUKOB | .....oeeeeeeeseeeecrseensenecsssenee Punches sets
ApT. Contiene/Contains A
54A | 7 MNpo6oiiHnkos/Punches PG 9 - PG 36 + 1 ProTool Lube 2,6
54F1 | 6 MNpob6oliHnkos/Punches 16, 19, 22, 29, 38, 44 + 1 ProTool Lube 2,3
54F3 | 8 MpoboriHmkos/Punches 16, 19, 22, 29, 38, 44, 55 - 60 mm 5,0

54M1 | 7 Mpo6oinHukos/Punches 16, 18, 20, 22, 25, 35, 40 + 1 ProTool Lube 2,3
54M3 | 9 lNpo6oiHnkos/Punches 16, 18, 20, 22, 25, 35, 40, 55 - 60 mm 4,9

54G00 | 9 MpoboliHnkos/Punches PG 9 - PG 48 5,0
ApT. Bkntouaet/Contains TARA
54E1* | 5 lMpo6oiHukos/Punches 16, 20, 25, 32, 40 + 1 ProTool Lube 2,0
54E3* | 7 MNpo6oiHnkos/Punches 16, 20, 25, 32, 40, 50 - 63 mm 4,0
* CTaHAapPTHbI Habop. Normative rigid tube set <
A4
S
I
................................................................................................................................................................................................................................. =
[emo Habop MeTananyeckmnx Npo6oMHNKOB Metal punches storage displaysets Q
@)
. (a
PekomeHayeMmbl Habop. Recomended content. C
BO3MOXHO M3MEHUTb You can change the content. L
cofiepXmmoe. s
I
>
AprT. o
5499A
AprT. u. AprT. u. AprT. U.
54/14 6 54/22 4 54/40 2
54G9 6 54G16 4 54/45 2
54/16 6 54/25 4 54G36 2
54/18 6 54/28 3 54/50 2
54G11 5 54/30 3 54/52 2
54/20 5 54/35 3 54/55 1
54G13 5 54G29 3 54/60 1

FORZA 73




N

Kpyrnbie npo60MHUKY € NOALWMNHUKAMN Circular punches with bearings

PEXYLLASA CNMOCOBHOCTb: CUT CAPACITY:
) JlncToBas CTanb TOALMHOWN 2 mm. in steel sheet.
N 2MM (HepXkaBetoLas ctanb (1,5 mm. in stainless).
o0 TONWMHOMK 1,5 Mm). Greater thicknesses on
g Mo 3anpocy pefoCTaBAsAOTCS request.
© NPOBONHNKN ANA 6oNbLLENR
8 TONLMHBI.
=
=
v ApT. MM TARA ApT. MM 80
2 55/13 12,5 0,1 55/40 40 0,6
C 55/14 14 0,1 55/41 41 0,6
= 55115 15 | 018K o4 55/42 42 0,6
. 55/16 16 0,1 55/43 43 0,7
:ﬁ 55/18 18 0,1 55/44 44 0,7
I 55/20 20 0,1 55/45 45 0,8
& 5521 21 0,1 5546 46 | oo R 08
) 55/22 22 0,1 55/47 47 0,8
o 55/23 23 540110R 0,2 55/48 48 0,8
55/24 24 M10 0,2 55/49 49 0,9
55/25 25 0,2 55/50 50 0,9
55/26 26 0,2 55/51 51 0,9
55/27 27 0,2 55/52 52 1,00
55/28 28 0,3 55/55 55 1,6
55/29 29 0,3 55/60 60 1,7
55/30 30 0,3 55/63 63 1,7
55/31 31 0,3 55/65 65 2,1
55/32 32 0,3 55/70 70 2,1
55/33 33 540112R 0,4 55/72 72 2,2
55/34 34 M12 0,4 55/75 75 2,3
55/35 35 0,4 ss5/0 80 | MI2OR o
55/36 36 0,4 55/85 85 2,8
55/37 37 04 55/90 90 3,3
55/38 38 0,4 55/95 95 3,4
< 55/39 39 04 55/100 100 3,5
S 55/105 105 4,3
< 55/110 110 4,6
= 55/115 115 47
T
-
=
=
@)
-
)
S
A4
S
T - q
< BUHTBI C nogwmMnHMKamMmm Screws with bearlng
@)
L0
@)
% ApT BVHTBLI C noALIMNHUKOM/
: Screws with bearing
540108R M8 x 1,25
540110R M10x 1,25
540112R M12 x 1,50
540114R M14x 1,50
540120R M20 x 1,50

74 FORZA




¢

Hagop PY4YHbIX I'IpOgOVIHVIKOB |U|anua| pUI"IC”ES sets

AprT. | BkntoyaeTt/Contains Ty N
54)R41 |  ©18-20-22-37 1,0 =
54)R42 |  ©16-20-25-35 1,0 =
54)R43 |  ©18-22-25-32 1.0 &
54)R44 |  ©16-20-25-32 1,0 e}

~
=
=
a0
(18]
-]
C
18}
=
BaApaTHbIN MPOOONHUK C NMOALLNMHUKOM quare wit earing (L/L].)
T
@]
Z
o
(a

Apr. | | | emmm 0
54C30 | 30x30 0,9
54€35 | 35x35 M17 1,2
54C46 | 46x46 1,9
54C67 | 67x67 M20 2,6
54C92 | 92x92 4,6

pAMOYyroJibHbl€ MPOOONHUKN C NOALLNMHNKOM ectangu ar puncnes wit earing
ApT. | [ | [ ] AN
54R2870 | 28,5x70 1.8
54R4070 |  40x70 2,3
54R4290 |  42x90 M20 2,5
54RE5280 |  52x80 2,8
54R35113 |  35x113 3,0

MpamoyronbHble NPO60OMHMKKM € nogwmMnHUKOM Rectangular punches with bearing

OcTaBbTe 3anpoc Ans ApYrnx Request a quote for other measures.
pasmepos.. 6 unit set: at least.
MuHUManbHbIN 3akas: 6 eANHNL,

NMPOBOUNHUNKW C NOAWNTITHUKAMMN

FORZA 75




Kpyrnble rugpaBnnyeckue npo60MHUKN Hydraulic circular punches

Apr. P.G. MM @ Ban/ Axis §d
54/13H 12,5 0,8
54/14H 14 0,8
54/15H 15 8 0,8
54/16H 16 0,8
54/17H 17 0,8
54/18H  54G11H 18 0,1
54/19H 19 0,1
54/20H 54G13H 20 0,1
o= 54/21H 21 0,1
S 54/22H 54G16H 22 0,1
o 54/23H 23 02
i< 54/24H 24 0,2
T 54/25H 25 0,2
. 54/26H 26 0,2
v 54/27H 27 02
T 54/28H  54G21H 28 12 0,3
(] 54/29H 29 0,3
Z 54/30H 30 0,3
2 54/31H 31 03
54/32H 32 0,3
54/33H 33 0,3
54/34H 34 0,3
54/35H 35 0,4
54/36H 36 0,4
PEXYLLASI CMOCOBHOCTb: 54/37H  54G29H 37 0,4
NnctoBas cTanb TONLLMHOR 2MM 54/38H 38 0,4
(HepxxaBeroLLas cTanb TOALWMHON 1,5 MMm). 54/39H 39 04
Mo 3anpocy npeaocTaBnAroTCA I'IpO6OVIHI/IKI/I ::;:2: 2? g’g
ana 6onbLuen TONLLNHbBI. 54/42H 42 0,6
54/43H 43 0,6
CUT CAPACITY: 54/44H 44 0.6
2 mm. in steel sheet. 54/45H 45 0,7
(1,2 mm. in stainless). 54/46H 46 0,7
Greater thicknesses on request. 54/47H  54G36H 47 0,7
54/48H 48 0,8
54/49H 49 0,9
54/50H 50 0,9
54/51H 51 0,9
54/52H 52 0,9
54/55H  54G42H 55 20 1,4
54/60H 54G48H 60 1,4
< 54/63H 63 1,5
% 54/65H 65 1,8
AN 54/70H 70 1,9
é 54/72H 72 1,9
54/75H 75 1,9
Q 54/80H 80 2.4
e) 54/85H 85 3,1
o 54/90H 90 3,0
- 54/95H 95 32
L 54/100H 100 3,5
> 54/105H 105 3,7
7 54/110H 110 4,0
e 54/115 H 115
J
S
=
m e 0000000000000
< _Ba,qpam bl TUAPaBANYECKNA gquare M
;ﬂ NPO6ONHNK hydraulic rMAapaBANYecKnin hydraulic
- NPO6ONHNK
| E/Ax 52 Am‘ll &d
je/ Axis 54R2870H | 285x70 1,5
54C46H | 46 x 46 1.6 54R4070H | 40x70 2,1
54C67HN | 67 x 67 20 2,4 ummw| 42x% 90 2,3
54C92HN | 92 x 92 4,3 54R5280H | 52x80 2,5
54R35113H | 35x 113 28

76 FORZA




¢

Ha opbl rnapaBAnNyecknx npoooHMKOB Hy raulics puncnes sets
ApT. Bkntouaet/Contains TARA
54AH | 6 npo6oliHmkos/Punches PG 11 - PG 36 + 1 ProTool Lube 2,3
54F1H | 5 npob6oiiHnkos/Punches 19, 22, 29, 38, 44 + 1 ProTool Lube 2,1
54F3H | 7 npo6onHukos/Punches 19, 22, 29, 38, 44, 55 - 60 mm 4,3
54M1H | 6 npob6oiHunkos/Punches 18, 20, 22, 25, 35,40 + 1 ProTool Lube 2,0
54M3H | 8 nmpoboriHnkos/Punches 18, 20, 22, 25, 35, 40, 55 - 60 MM 4,3
54GO0H | 8 npoboiiHnkos/Punches PG 11 - PG 48 4,5
ApT. BkntouaeT/Contains TARA U
54E1H* | 5 npob6oiHukosPunches 16, 20, 25, 32, 40 + 1 ProTool Lube 1,8 ?’
54E3H 54E3H* | 7 npo6oiHukos/Punches 16, 20, 25, 32, 40, 50 - 63 MM 3,3 e
*CTaHAapTHbIN Habop / * Normative rigid tube set. _9,
I
—_— Ui
Ha op rmapaBNNYeCcKnX rnpooomMHMKOB Hy raulics puncnes sets %
)
KomnnekTyeTca Hacocom, Pump, cylinder and hose %
umnnHapom v PB/,. Beibpatb included. You can choose o
MOXHO MexXay 8 nan between 8 or 14 T.
14T. Up to 10 punches choose.
Ha BbI6Op NpegocTaBnseTcs (Not included in the price).
20 10 NpO6OMHNKOB. (He All adapters included.

BK/tOYeHbI B Mpaiic). Bce
nepexoAHNKN BKIKOUEHbI B
KOMMJIEKT MOCTaBKU.

Ha6op rngpaBnnyeckmx ycTponicTs Hydraulic set
ApT. | TARA ™
5400CH|| 6,0 8
5414CH|| 7,1 14

5400CH oo .
MocTaBnseTcs B niacTMaccosom 6okce.  Supplied in plastic box.

3anacHble YacTu U NPUHAANEXHOCTU Spare parts and accesories
) Apt. | 00 Tm.
CBMHTOM . M 12M8 .............. Wlth screw M12' M8 Unnnuap/ (9044 21 8 5400CH ?
Mpo6oliHnkm 18 a 39 H Punches 18 -39 H Cylinder '
Mpo6oiHnkni13 a 17 H Punches 13-17H Uwnnuupp/
Cylinder 009544 3.1 14 5414CH
“Nana”/Mal Hacoc/ ., 5400CH -
a"a\ ale Pump 009542 3,7 8-14 5414CH

PB/Z 900 mm / 900 mm hose

/ Unnuuap/
009058 \ T
009053 /o | Cylinder

09056 009057

rMMAPABINYECKWME MPOBOVHKWKIA

“Mama”/ 009054 009055 3anacHble YacTtu Spare parts
Female  ooef 0990 R T L BRELE RS
ApT. Onucanue/Description A
. 54004 | Lllanba @ 20 Washer 0,1
CBMHTOMMZO ............................ WlthscreWMzo 009053 BuHT M8 Screw (@ 13 - ‘]7) 0"]
009054 | Llarba @ 8 Washer 0,1
009055 | MepexogHuk M8 Adaptor 0,1
/ 009056 | Llaiiba @ 12 Washer 0,1
009057 | MepexozHuKk M12 Adaptor 0,1
009059 441 / e 009058 | BuHT M12 Screw (@ 18 - 39) 0.1
“Mana”/Male “Mama"/Female 009059 | BuHT M20 Screw (@ 40 - 115) 0,3

Bkntouaet 5400CH 1 5414CH / Included in 5400CH and 5414CH

FORZA 77




N

Mpo6onHnKn 6e3 WnnpoBKn 1@ Punches without grinding
PEXYLLASI CNOCOBHOCTb: CUT CAPACITY:
JlncrtoBas cTaNb TONLLMHON 2 mm. in steel sheet
2 MM (Hep>KaBetoLLas cTanb (1,2 mm. in stainless).
TONLLMHON 1,2 MM).
ApT. | @ npo6os/cut [ 50
54VAL13 | 12,7 mm (1/2) 0,1
54VAL14 | 14 MM 0,1
54VAL15 | 15 vm 54V08 0,1
54VAL16 | 16 mm (5/8") M8 0,1
v 54VAL18 | 18 mm 0,1
T 54VAL19 | 19 mm (3/4") 0,1
) 54VAL20 | 20 vm 0,1
% 54VAL22 | 22 mm (7/8") VO
o 54VAL25 | 25 mwm (17) 0,2
54VAL28 | 28 mm (1-3/32") 0,3
54VAL30 | 30 vm 0,3
54VAL32 | 32 mm (1-1/4") 0,3
5avAL34 | 34wm(1-11/32) A2 04
54VAL35 | 35 mm 04
54VAL37 | 37 mm 04
54VAL38 | 38 mm (1-1/2") 0,4
54VAL40 | 40 mm 0,6
54VAL43 | 43 mm (1-11/16") 0,7
54VAL45 | 45 mMm 0,6
54VAL47 | 47 Mm 54V14 0,7
54VAL49 | 49 mm (1-15/16") M14x60 0,9
54VAL50 | 50 mMm 08
54VAL51 | 51 mm (27) 0,9
54VAL52 | 52 mMm 08
54VALS55 | 55 mMm 1,5
54VAL60 | 60 mm (2-3/8") 1,6
54VAL63 | 63 mMm 54V20 1,6
54VAL76 | 76 mm (3") M20x80 2,2
54VAL89 | 89 m (3 1/2") 3.2
54VAL102 | 101,6 MM (4") 38
Habop e 8
ApT. | BkntouaeTt/Contains TARA
§ 54VK43 | 18-22-25-32 08
AN 54VK46 | 15-20-22-28 08
é 54VK48 | 5/8"-3/4"-1"-11/4" 08
o 54VK49 | 1/2"-3/4"-1"-1.1/4" 0,9
Wa)
@)
a
-
3anacHble BUHTBI Spare screws
ApT. | [ ] §d
54V08 | M8 x 1,25 0,1
54V10 | M10x 1,25 0,1
54v12 | M12 x 1,50 0,1
54V14 | M14x 1,50 0,1
I

M20 x 1,50 0,2




¢

Mpo6onHnKn 6e3 WnnpoBKn 1@ Punches without grinding
PEXYLLAA CTTOCOBHOCTb: CUT CAPACITY:
JlnctoBast cTaNb TONLLMHON 2 mm. in steel sheet
2 MM (Hep>caBetoLLasi cTanb (1,2 mm. in stainless).

TONLLUMHON 1,2 MM).

ApT. | @ oTpesa/cut o 50
55VAL13 | 12,57 mm (1/2") 0,1
55VAL14 | 14 mm 0,1
55VAL15 | 15 MMm 540108R 0,1
55VAL16 | 16 mm (5/8") M8 0,1
55VAL18 | 18 mm 0,1 n
55VAL19 | 19 mm (3/4") 0,1 =
55VAL20 | 20 mwm 0,1 @]
55VAL22 | 22 mm (7/8") SR 02 =
55VAL25 | 25 mm (1) 02 a
55VAL28 | 28 mwm (1-3/32") 03
55VAL30 | 30 mwm (1-3/16") 03
55VAL32 | 32 mm (1-1/4") 540112R 03
55VAL35 | 35 mm (1-3/8") M12 05
55VAL37 | 37 mm 04
55VAL38 | 38 mm (1-1/2") 06
55VAL40 | 40 mwm (1-19/32") 06
55VAL43 | 43 mm (1-15/16") 07
55VAL45 | 45 mwm 07
55VAL47 | 47 mwm (1-7/8") 540114R 038
55VAL49 | 49 mm M14 038
55VAL50 | 50 mm 09
54VAL51 | 51 mm 1,0
54VAL52 | 52 mwm (27) 1,0
55VAL55 | 55 mm (2-3/16") 1,6
55VAL60 | 60 mm (2-3/8") SOLIR a7
55VAL63 | 63 mm (2-1/2") 1,7
55VAL76 | 76 mwm (3") 22
55VAL89 | 89 mwm (3 1/2") 32
55VAL102 | 102 mwm (4") 38
Hab0p e 8
ApT. | BkntoyaeTt/Contains TARA =
savior | Z2UEVECID 10 =
I
=~
O
a)
O
a
-
3anacHble BUHTbI Spare screws
ST AL eoocomonmsocassamanonses with bearing
Apr. | amin iy
540108R | M8 x 1,25 0.1
540110R | M10 x 1,25 0.1
540112R | M12 x 1,50 0,1
540114R | M14 x 1,50 0.2
540120R | M20 x 1,50 04
FORZA 79




N

M30nsLmMoHHast Tpy6a Conduit pipe

besmopuwmnhukos . Without bearings
ApT. F:‘:) cT!I::I MM @ [ ] Ay
54VALO050 172" 22,5 54V10-M10 0,1
54VALO075 3/4" 28,3 54V12-M12 0,3
54VAL100 1" 34,6 54V12-M12 0,4
54VAL125 11/4" 43,3 54V14-M14 0,6
54VAL150 11/2" 49,7 54V14-M14 0,9
54VAL200 2" 61,8 54V20-M20 1,6
Vi 54VAL250 21/2" 74,4 54V20-M20 2,2
Ll 54VAL300 3" 90,6 54V20-M20 3,2
5 54VAL350 31/2" 103,2 54V20-M20 3,8
=z 54VAL400 4" 116 54V20-M20 4,5
)
= Cnopwmnunkamn With bearings
ApT. ,C:,:) cT\I::I MM @ [ ] Ay
55VAL050 172" 22,5 5401110R-M10 0,2
55VALO075 3/4" 28,3 540112R-M12 0,3
55VAL100 1" 34,6 540112R-M12 0,3
55VAL125 11/4" 43,3 540114R-M14 0,7
55VAL150 11/72" 49,7 540114R-M14 0,8
55VAL200 2" 61,8 540120R-M20 1,6
55VAL250 21/2" 74,4 540120R-M20 2,2
55VAL300 3" 90,6 540120R-M20 3,2
55VAL350 31/2" 103,2 540120R-M20 3,8
55VAL400 4" 116 540120R-M20 4,5
acToALLUN Tpy6onpoBoy, eal pipe
Pa3mepbl AN aMepuKaHCKOro pbiHKa Sizes for American market
besnopuwmnhukos . Without bearings
ApT. qmmg" MM @ [ ] A
54VAL13 172" 12,7 54V8-M8 0,1
54VAL19 3/4" 19 54V8-M8 0,1
54VAL25 1" 25,4 54V10-M10 0,2
54VAL32 11/4" 32 54V12-M12 0,3
54VAL38 11/2" 38 54V12-M12 0,4
§ 54VAL51 2" 51 54V14-M14 0,9
N 54VAL63 21/2" 63,5 54V20-M20 1,6
T 54VAL76 3" 76,2 54V20-M20 2,2
X 54VALS89 31/2" 89 54V20-M20 32
8 54VAL102 4" 101,6 54V20-M20 3,8
@)
(a
C C noALWVMHMKaMN With bearings
ApT. q:mgﬂ MM @ [ ] 5
55VAL13 172" 12,7 540108R-M8 0,1
55VAL19 3/4" 19 540108R-M8 0,1
55VAL25 1" 254 5401110R-M10 0,2
55VAL32 11/4" 32 540112R-M12 0,3
55VAL38 11/2" 38 540112R-M12 0,4
55VAL51 2" 51 540114R-M14 1,6
55VAL63 21/2" 63,5 540120R-M20 1,7
55VAL76 3" 76,2 540120R-M20 2,2
55VALS89 31/2" 89 540120R-M20 3.2
55VAL102 4" 101,6 540120R-M20 3,8

FORZA

80




	Title
	001_002
	003_024
	025_044
	045_062
	063_070
	071_080
	081_095
	096_109
	Title2



